
PUSH

ASSEMBLY   INSTRUCTION
ITEM:

1/3

STEP 3

1020*480

1

1 Pc

STEP 1

STEP 2

M6*60 4 Pcs

A

M6*35
12 Pcs

B

8 Pcs

F

M6*30
16 Pcs

C

M4*8
4 Pcs

D

G=2 D=4

1 Pc1 Pc 1 Pc
960*20*20

2 Pcs
7

1 Pc 1 Pc 2 Pcs 2 Pcs

M3*12

G

2 Pcs 4 Pcs

2 3 4 5 6

8 9 10 11

H

2
1

3

4

10
10

7

79 87

6
6

11 11

G

7

7

9

B

B

B

B

B=4

900*480 480*480
480*238

840*20*20 440*20*20 2 Pcs 2 Pcs

12 13

12
12

13

13

5

5 5

5

D
D

D
DG

G

M6*12
4 Pcs

E

4 Pcs

E=4

5

E

5

E

5

E

5

E

2

E=4

4 Pcs

7



ASSEMBLY   INSTRUCTION
ITEM:

2/3

STEP 4

STEP 6

STEP 5

C=4

STEP 7

A=2

B=4

B

B

B
B

7

7

8

A=2

B
B

6
6

1

C=4

F=4
F

F

F

F

F
F

F
F

F=4

A
A

B
B

11

C

CC

C

A
A

11
C

C
C

C

STEP 8 STEP 9

B=2

B=2

2

H=4
G=2

4
G

G

H
H

H
H

10

10



ASSEMBLY   INSTRUCTION
ITEM:

3/3

STEP 10

STEP 11

C
C C C

C=4

12

1213

13
C

C

C

C

C=4


	双办公桌连接安装图修改键盘架 Model (1)
	双办公桌连接安装图修改键盘架 Model (1)
	双办公桌连接安装图修改键盘架 Model (1)

